—[ Dividing by one )—

( Note: Any number divided by 1is that number )
Divide the following

a 2 513 k. 551+ 1|=

b 20|+ 1= I 6 13

c SH13 m. B4a1=

d 7 +1= n. 13+1=

€ 1115 0. 221+ 1|=

f 10=+1= p. 44+ 1=
9 1+1= q 19+1=

h 9413 r. Bl+1E

i 24 + 1= S. 65+ 1=

i 29 +1= t. 30 +1=

1.
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Dividing by one

Solution

N

( Note: Any number divided by 1is thét number

Divide the following

a H1=z2 k 551+ 1= 55
b. 20|+ 1=20 I 64156

= 5+1=5 291=3

d. 7 H1=37 n 13+1=13

e. M+1=1 o 22 = 1|= 22
f. 10+ 1=10 p 44 +1= 44
_g. 1 +1=1 a 19 = 1=1¢

h 9+1=9 r 31+1=3l

i 24|+ 1=24 S 65+ 1= 65
j. 29 +1=29 t 30/+1=380
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